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20244 3H58 H1E

<hvT>
ANt
ITrRILF— - KBRS (ERUERRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
110 244 4.6 16.3 19.9 0.1 —
Z bORY—
ITrRILF— - KERD (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nJzr>a62 (mg)
110 236 4.2 14.8 21.4 0.1 —
DvF—&ITU—LA
ITrRIILF— - KERD (ERUESRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BISHHNE(g) |nTzr>a62 (mg)
110 247 4.5 15.8 21.7 0.2~0.3 1
TU—>F 1 —
ITrRILF— - KERD (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
110 239 4.8 14.8 21.6 0.1 56
NATZTFYY
ITrRILF— - KBRS (ERUERRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liF=1(e)) RIKAEH(g) BISHHNE(g) |nTzr>a62 (mg)
110 297 4.6 22.4 19.3 0.2 —
>335 F7aA
ITrRILF— - KERD (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BISHHNE(g) |nTzr>a62 (mg)
110 259 4.9 17.5 20.5 0.1 9
DwF=)LD
ITrRIILF— - KBRS (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liF=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
110 237 4.1 15.2 21.0 0.2 —
SLhL—X>
IxRILF— - RKEHRSD (ERUESZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E6E (mg)
110 257 3.5 17.1 22.3 0.1 —
2hORNU—->305/)0x
IxILF— - RKERSD (ERUESRZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
85 257 3.3 16.6 23.6 0.2 2

NIT>U—Fr SRl

IrILF— - RERSD (BRUEBRZD)




BFE(mI) | IRILF—(kcal) | T=AIELE() AEE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
110 263 4.3 16.7 23.9 0.1 —
RAZAA—bk IZSFv S A
IxRILF— - KEHRSD (ERUESZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E6E (mg)
95 227 3.7 13.5 22.7 0.2 —
NITSFTHAA
IxILF— - RKEHRSD (ERUESEZD)
FE(mI) | IRILF—(kcal) | T=AIELE() liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIzr>E8E (mg)
110 262 4.5 18.1 20.3 0.1 33
LE>OU-LIIDT
IxRILF— - KERSD (ERUESZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E6E (mg)
110 256 3.8 15.5 25.3 0.1 —
GREEN CRAFT ZH/IZZ
IxRILF— - KEHRSD (ERUESEZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISAYNE(g) |pIzr>E68 (mg)
110 170 3.6 5.5 26.3 0.2 —
GREEN CRAFT ZEF3IL—h&AXHATZIF
IxRILF— - KEHRD (ERUESEZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISAYNE(g) |pIzr>E88 (mg)
110 215 4.2 9.4 28.5 0.1 6
AHUTEDZ)L
IxILF— - KEHRD (ERUESEZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
92 229 3.4 11.9 27.1 0.2 —
BE5 BBEQRIEHD
IxRILF— - KEHRSD (ERUESZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E68 (mg)
92 237 3.7 11.3 30.0 0.1 —
BEE5 HRHIE
IxILF— - KEHRD (ERUESZD)
BFE(mI) | IRILF—(kcal) | T=AIELE() AEE(9) RIKAEHD(g) BISAYNE(g) |pIzr>E8E (mg)
92 231 3.5 9.4 32.9 0.1 35
RAXA—bk HFyv/\MLF
IxILF— - RKEHRSD (ERUESEZD)
FE(mIl) | IRILF—(kcal) | T=AIELE() liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E68 (mg)
91 283 4.0 18.5 25.2 0.1 10
HIUI\H—-ER Y b
IxRILF— - RKERSD (ERUESEZD)
FE(mIl) | IRILF—(kcal) | T=AIELE() liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E68 (mg)
110 272 4.4 18.6 21.6 0.3 —
JUalLJualLJual
IxILF— - RERD (ERUESEZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E6E (mg)
85 266 3.5 18.7 20.8 0.2 —




BOKJ1D

IILF— - RERSD (BRUEBRZD)

BFE(mI) | IRILF—(kcal) | T=AIELE() AEE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E6E (mg)
110 262 3.5 16.8 24.2 0.1 1
FrSA)NOAVILIIVLIT A —
IxILF— - RKEHRSD (ERUESEZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
110 249 4.4 14.8 24.7 0.1 50
<POURE—H> R>
H . UyFFrSAIL
ITrRIILF— - KERD (ERUERRZD)
FE(ml) | IRILF—(kcal) | FAIELE(Q) liF=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
60 249 2.5 17.2 21.0 0.1 —
FRCOING—DU—IT—F
ITrRILF— - KBRS (ERUERRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
60 265 2.7 18.8 21.3 0.1 —
N—EILFVvVSFT
ITrRILF— - KERD (ERUESRRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
60 253 2.5 17.4 21.6 0.1 11
AgE/ =D/ T
ITrRILF— - KERD (ERUESREZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
60 241 2.5 16.9 19.7 0.1 1m g Kii
SRR BRVEKRST
ITrRIILF— - KBRS (ERUERRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BISHHNE(g) |nTzr>a62 (mg)
60 249 2.6 16.7 22.1 0.1 35
SENEZ
ITrRILF— - KERD (ERUESRRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) REE(9) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
60 244 2.4 16.7 21.1 0.1 —
<\—>
NZSF3IL—bIHFTET
IxILF— - RKERSD (ERUESEZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISHAYNE(g) |pIxr>E68 (mg)
80 280 4.0 21.8 16.9 0.1 3
NIO2F>F3ATIr7ve
IxILF— - RKERD (ERUESEZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) EE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E88 (mg)
80 274 3.5 17.9 24.5 0.1 9

KRIAH OIS F




IxILF— - RKERD (ERUESZD)
FE(mI) | IRILF—(kcal) | T=AIELE(Q) liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
80 266 3.0 17.7 23.6 0.1 45
<PU—=—0->>
FrSAIILIIIFT 1 —
ITrRIILF— - KBRS (ERUESRZD)
FE(ml) | IxIF—(kcal) | TRAIXLE(Q) BEEE(9) RAKAEY(9) BIGHSE(g) |HI7z1>888 (mg)
88 289 3.4 16.7 31.2 0.1 42
<77Y— bRy O X>
SN=X F7Y—hk ({Z3)
IxRILF— - KEHRSD (ERUESZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISHAYNE(g) |pIxr>E8E (mg)
70 157 3.0 10.5 12.8 0.1 —
SIN\=X 7Y—hk (RbORYU—)
ITrRILF— - KBRS (ERUESRRZD)
FE(ml) | TRILF—(kecal) | T=AELE(Q) REZ(g) RAKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
70 152 2.7 9.5 13.7 0.1 —
SN TY—hk (DyF—8&0J—L1)
ITrRILF— - KBRS (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nJzr>aE2 (mg)
70 156 2.9 10.0 13.8 0.1~0.2 1m g K
52w PIY—K (JU—->F0—)
ITrILF— - KBRS (ERUESRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
70 154 3.1 9.5 13.9 0.1 36
D52wo Y-k (SAL—XY)
ITrRILF— - KERD (ERUERRZD)
FE(ml) | TRILF—(kecal) | T=AELE(Q) REE(g) RAKAEHD(g) BIEHHNE(g) |nTzr>a62 (mg)
70 165 2.2 11.0 14.3 0.1 —
o52w 0 7Y—hK (Z3)
ITrRILF— - KBRS (ERUESRZD)
FE(ml) | IxILF—(kcal) | TAIXL<LE(Q) BEE(9) RAKAEH(9) BIGHSE(g) |hI7z1>888 (mg)
70 157 3.0 10.5 12.8 0.1 —
XM=k FSX (X ORYU—-&Z)LD)
ITrRILF— - KBRS (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) liE=1(e)) RIKAEH(g) BISHHNE(g) |nTzr>a62 (mg)
70 118 1.4 5.3 16.1 0.04 —
RA—h TSR (A=TIOvF+-—)
ITrRILF— - KBRS (ERUERRZD)
FE(ml) | TRILF—(kecal) | T=AELE(Q) REE(g) RAKAEHD(g) BISHHNE(g) |nTzr>a62 (mg)
70 161 2.9 9.9 15.1 0.1 —

A=k FSR (DU—Z-TIXTLwvVY)

ITRILF—-

REND (R

1@z D)




BFE(mI) | IRILF—(kcal) | T=AIELE() AEE(9) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
70 154 2.5 9.7 14.3 0.1 13
AA—hkRUT— (FrSRILST)

IxILF— - RKERSD (ERUESEZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE() liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIxr>E8E (mg)
70 163 2.6 10.8 14.0 0.1 —

RA—kRUF— (23T355)LK)

IxRILF— - RKERSD (ERUESEZD)
FE(mI) | IRILF—(kcal) | T=AIELE() liE=1(e)) RIKAEHD(g) BISAYNE(g) |pIzr>E8E (mg)
70 161 3.0 10.2 14.4 0.1 3

AA—hkRUFT— (BOIIILITFT+ > D)

IxILF— - RKERSD (ERUESZD)
FE(mI) | IRILF—(kcal) | T=AIELE(Q) AEE(g) RIKAEHD() BISAYNE(g) |pIxr>E88 (mg)
70 155 2.4 9.6 14.7 0.1 —

A21—hK TSR (R ORU—=& /L)

IxILF— - KERSD (ERUESEZD)
BFE(mIl) | IRILF—(kcal) | T=AIELE(Q) AEE(g) RIKAEHD(g) BISAYNE(g) |pIxr>E68 (mg)
70 118 1.4 5.3 16.1 0.04 —

XM=k TSR HERDFILE)

IxILF— - RKERSD (ERUESEZD)
BFE(mI) | IRILF—(kcal) | T=AIELE() liE=1(e)) RIKAEHD(g) BISAYNE(g) |hIxr>E68 (mg)
70 158 3.0 9.6 15.1 0.1 26

A=k FSX (FadL—hrI7v>)

IxRILF— - RKERSD (ERUESZD)
BFE(mI) | IRILF—(kcal) | T=AIELE(Q) AEE(9) RIKAEHD(g) BISAYNE(g) |pIzr>E8E (mg)
70 162 2.6 10.2 14.9 0.1 1

<WA> b>
ANt

ITrRILF— - KBRS (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) REEE(9) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
473 1059 20.0 70.5 86.2 0.6 -

DvF—&IU—LA

ITrRILF— - KBRS (ERUERRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liF=1(e)) RIKAEH(g) BISHHNE(g) |nTzr>a62 (mg)
473 1059 19.7 67.1 93.9 0.9 5

IU—>F1—

ITrRILF— - KBRS (ERUESRZD)
FE2(ml) | IRILF—(kcal) | F=AIELE(Q) liF=1(e)) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
473 1036 20.7 64.3 93.5 0.5 240

 bORY—

ITrRILF— - KERD (ERUESRZD)
FE(ml) | IRILF—(kcal) | F=AIELE(Q) REE(9) RIKAEH(g) BIEHHNE(g) |nTzr>a62 (mg)
473 1022 18.0 64.3 92.7 0.5 —




